LA XL

vier Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
1 11 3 13 1
—_— (- — — ) = _—__-|—_:
s 3G 5 33773
11 11
28+ 44 ) x — = S _ly.g-
(28 773 88373
1 21 1 13 3 1
S+ o)= 4+ )x -2 =
173G%3%) G733 3
11 111 3
= 10— = — = - — — — 4 - =
(0=10=72)=3 G737373
1111 3 011 1
)X 4 = = Z (=t =)=
3737373 5736373
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vier Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
1 11 3 11 2 13 1 7
-2z -2)= = R
6 36 2 18 5 44 2 &0
1 1 29 5 1 1
28 +4+ — - = — =3-— —— =)+8=
(28 4)><2 3 38 88(3 3) 8=0
1 21 1 11 1 3 3 1 7
_+—(—+—):—- (— —)X_—_:__
4 32 2 12 6 4 5 5 20
1 1 35 3 1 1 1 3 3
~10— - —= — =4— - — = -+ ===
CO=10=)*5=5 =% G 9%3%3573
(l+l)xl+l:z E+l(l+_):6_1_:1_1_
5 5 2 5 5 5 23 2 60 60
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